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    Math 8
APPLYING PYTHAGOREAN THEOREM 
Problems 1 – 4, find x. Show work and round to the nearest tenth when necessary.

1.   
     x                                3 cm
                        3 cm

2.    
        x                                                         4 m

                              10 m

3.    
          2 cm                                                           12 cm
                                    x

4.    

             7 in                            x     

                               x    

5. 
     y                                                                 5 cm

  x                                                                               6 cm

                                    8 cm

Part A: Find the length of x. Show work.
Part B: Find the length of y. Round to the nearest centimeter.
6.   
      y                                                                                           7 m

    x                                                                                                4 m

                                     15 m

Part A:   Find the length of x. Sow work and leave in radical form.

Part B:   Find the length of y. Show work and round to the nearest tenth.
Problems 7 – 17, find the missing information and round the solution to the nearest tenth of a unit unless it states otherwise. 
SHOW ALL WORK!



HINT: DRAW AND LABEL A PICTURE.
7. A plane flies due east for 90 km, and then turns due north for 60 km. How far is the plane from the starting point to the nearest tenth of a kilometer? Hint draw and label a diagram. Looking for a hypotenuse or a leg? Circle one

ANSWER




8. Scott wants to swim across a river that is 400 meters wide, but as he swims the current takes him downstream 100 meters. How far did he actually swim to reach the other side, to the nearest meter? 
Looking for a hypotenuse or a leg? Circle one

ANSWER




9. How high is a kite above the ground? If I have let out 225 feet of string and it is directly above someone 60 feet from me.

 Looking for a hypotenuse or a leg? Circle one
ANSWER




10. The telephone company needs to put a support wire on a pole to make it straight, up and down. If the pole is 32 feet tall and the wire stake is 14 away from the base, how much wire do they need to secure the pole? 
Looking for a hypotenuse or a leg? Circle one
ANSWER




11. The Romans built a siege ramp to enter the ancient city of Babylon. If the wall is 10 meters high and they start the ramp 140 meters from the wall. How long will the ramp surface be? Looking for a hypotenuse or a leg? Circle one
ANSWER




12. Mr. D needs to figure the length of his roof. He knows his house is 33 feet wide and he know that the peak, in the center, is nine feet above the gutter line. How long is one side of his roof? Looking for a hypotenuse or a leg? Circle one

ANSWER




13. In a rectangle, the base is nine inches and the diagonal (from the bottom left corner to the top right corner) is 11”. Find the length of the side.

Looking for a hypotenuse or a leg? Circle one

ANSWER



14. In a square, the diagonal (from the bottom left corner to the top right corner) is 14.2’. Find the perimeter of the square. CAREFUL. 
Looking for a hypotenuse or a leg? Circle one

ANSWER



15. An airplane takes off and attains an altitude of 26000 feet, after travelling 21 miles due south. What distance has the plane physically travelled to the nearest tenth of a mile (1 mile = 5280 feet) 
Looking for a hypotenuse or a leg? Circle one

ANSWER




16.  Joe E Baseball plays catcher and he said when he throws from home  to second base it is 180 feet( give or take an inch) His logic is that the bases are 90 feet apart so second base is 90 + 90 = 180 (
However,  Johnny Pythag, the president of the math league, tells him it is closer to 127’ 3 ¼ “ . Who is correct? prove it (
Looking for a hypotenuse or a leg? Circle one

ANSWER



17.  Troy and Julianne were arguing over their distance they live from school. Troy says when he drives he travels due south for 4 miles and turns east for exactly 3 miles so it is 7 miles to school. Julianne looked at the map and measured directly to school and read the scale as 5 miles. Who is correct and Why?

ANSWER




